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Solve the following equations for x.
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Solve the following absolute value equations.
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Solve and write your answer in interval notation. Then graph your solution.
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Solve each absolute value inequality and write your answer in interval notation. Then graph
your solution.
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23. Shaunna solved the math problem below, and wrote her answer in interval notation. Is
Shaunna correct? Why or why not?
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24. Solve for h and fill in the reasons (justify) for each step.
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25. Tracie was really hot at her softball practice. She yelled, “It has got to be at least 110

degrees outside today!!!” First specify a variable, then write and graph an inequality to model

this situation. X = outeide T‘t’ﬂ"?*i‘-'\"”‘-f"“"‘e
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26. The football team is selling raffle tickets. To motivate more students to buy them, they’re
giving a discount to anyone who is under 18. They also want to give a discount to anyone 60
and older. First specify a variable, then write and graph an inequality to model this situation.
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27. What are the excluded values for the equation below? Do not solve the problem.
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28. Simplify the expression by combining like terms:
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